1 4 "
Wl‘v
% Overall surival
0.8 - L
> %j
= 1
= L
a
0.6 - -
g —
[e)
—
a
S o4/ e
c
=
wn
02
0 1 1 L 1 1 L 1 1 1 Ll 1 1 1 1 1 1
0 12 24 36 48 60 72 84 96 108 120 132 148 156 168 180 192
Number at risk Times (months)
60 54 45 36 24 21 18 17 13 11 9 7 6 6 6 3 3
0 12 24 36 48 60 72 84 96 108 120 132 148 156 168 180 192
(a)
1 45
L-,_ TTC
08 4
1
= T
S 06 - S
.Q R
o
— ) ==
oy s
S 04 ]
S e
c
=]
(/)]
0.2 -
0 T 1 T T 1 1 Ll 1 1 1 1 1 T -
0 12 24 36 48 72 84 96 108 120 132 148 156 168 180 192
Number at risk Times (months)
60 39 31 25 20 18 16 15 13 10 8 6 6 S 3 1 1
0 12 24 36 48 60 72 84 96 108 120 132 148 156 168 180 192
(b)

Figure S1. (a) Kaplain-meier estimate of overall survival since mitotane initiation. (b) Kaplain-
meier estimate of time to chemotherapy since Mitotane initiation (TTC).



